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1. BE/KEHPPE ¢ 150mm  #EFR [ ZEBE#K - #ilE]
[ & RIRT 143 758% ]



HPPE$150mmickEfiRT HESHES

EfE-OF HPPE ¢ 150mm IR :L=19.046m(18.410m) ZE& I 025 1&
MR T4 :0.70m~0.90m NO., 71
LR
TiE - B TE H x4 & F %
JKEEKE A EFZONEE L
HH FYIFLUE ¢ 150 % 5,000 x 5000 X =
JKEEIKE A JL—VIVKEE
"YIFLVE ¢ 150 X 5,000 X 2 HPPE ¢ 15081 & & &Y = 0032 YIEAR
JKEE/KER TL—UIVFEEGHERNSE)
"YIFLVE ¢ 150 X 5,000 X 1 HPPE ¢ 15081 & & &Y = 2506 YIER
FYIFLVER SEfFE L
EFmMI590° AU ¢ 150 & 2 0.660 X 2 = 1.320
FIIFLVER L
EFF345° AN ¢ 150 & 3 0.620 X 3 = 1.860
FIIFLVER L
EFmI545° A'UM ¢ 150 & 1 0460 X 1 = 0460
FYIFLVER SEfFE L
EFmI545° A'UM ¢ 150 & 2 0460 X 2 = 0.920
FIIFLVER L
EFFIS11 1/4° A'UF ¢ 150 & 4 0340 x 4 = 1.360
FIIFLVER L
EFf®F-2 ¢ 150 % 75 & 1 0500 X 1 = 0.500
FYIFLVER S EfFE L
EFf®F-2 ¢ 150 % 75 & 1 0510 X 1 = 0510
FIIFLVER L
IS UATEEFIZRTF-R ¢ 150 % 75 & 1 0500 X 1 = 0.500
FIIFLVER
EFYryb ¢ 150 &
L
PCTaA bk ¢ 150 & 2 0039 X 2 = 0078
@75 7.5K
TSV HMFEM GF-RFERAR v # 1
25 THEE R 75 & 1
FCD&IL—N—=F RS EA GF 7.5K
-V EHIE S ¢ 75 % 150H H 1
PHEH/N—{FE 75K Z &
INAEERR ¢ 25 = 1
BEER  HPPE = 19.046
L
IPE SP250A m 2.20 1100 X 2 = 2200
Sus
XH£E 50X 100%300 | {& 4
UK HPPE ¢ 1508 & 4
Foh—RILk M6 & 8
T HAR-ZESHF BHE HYUIR%E
BHERBHER)—T ¢ 150F m 14.5 19.046 — - — 4596 = 14450 #R®
T HAR-ZESHF BHE HYUIR%E
HRRT-7 W=50 m 14.5 19.046 — - — 4596 = 14.450 #R
T 2fE T HAR-ZESHF BHE HYUIR%E
BB+ W=150 m 13.8 18410 — - — 4596 = 13814 #m




HPPE$150mmickEfiRT HESHES

TR &M £3Y:0.70m~0.90m NO. 1
LR
T £ & B TE {04 i F %
bz (BT
Fhi& HEF HNIE - ZRF REKTFE HYIR%
F)IFLVERMA T ¢ 150 m 18.5 19.046 — — 0510 = 18536 el 7
a#F) ZOEE AW LT a4 EF77vY"
EFf¢FT ¢ 150 m] 21 18+ 3 + + = 2
Qa#F) AN Yok WZF-2
EFf¢FT ¢ 150 &l 3 + + 3 = 3
RYIFLVE PCY'3{ub
MZhIVEF T ¢ 150 [m] 4 ( 2 + + + ) x = 4
IV HBET @75 (7.5K) [m] 1 1 = 1
IVY Uhys— BREX
BRER SR X E VI T ¢ 150 m] 2 2 = 2
HPPEY) &%
RYIFLV BT @150 m] 13 13 = 13
EREFET 75 = 1 1 = 1
SHERTT m 22
XESERET &l 4
Tto#%E
BEIRENER —THRET ¢ 150 m 14.5 14.450 = 14450 R
Tto#%E
HRRT-7T W=50 m 145 14.450 = 14450 bel o3
T 2fE Tto#%E
HHRY T W=150 m 13.8 13.814 = 13814 bel o3
EKEHEBRT BREE B A m 19.0 19.046 = 19.046
(1]
HPPE ¢ 150
EEIETD-1 HEEGEE) m 9.0 31+ 59 = 90
HPPE ¢ 150
EEETD-2 HEEGEE) m 54 16 + 38 = 54
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2. BO/KEHPPE (VLP) ¢ 50mm  #5&E# [HEREE - MiE]
[ TERI 143 553 ]



HPPE(VLP)$50mmEckKEMRT HEFTES

k&M Y :0.70m~0.90m NO, 2
EHIRA
TiE £ & KT A Bz & 1w %
JKEEIKE A EFRONEE L
H# FYIFLVE ¢ 50 % 5,000 x 3 5000 x 3 = 15.000
JKEE K E A TL—VIVREE
FYIFLVE ¢ 50 x 5,000 N 1 HPPE ¢ 508 & 5% &V = 3425 YIEH
FIFLUE A L
EFfI5245° A'UM ¢ 50 & 1 0220 x 1 = 0220
FIFLUE A L
EFA LT 14— ¢ 75% 50 & 1 0.340 X 1 = 0.340
FIFLUE A L
EFEZF-2 $150% ¢ 75 & 0.400 X 1 = 0.400
"YIFLUER
EFYyb ¢ 50 & 1
PPEE @50 & 1
L
EFA 37—t F ¢ 50 #® 1 0715 x 1 = 0715
BEER  HPPE = 20.100
JKEEIKE A
BESA=VIHE ¢ 50 X 4,000 PN 1 VLP ¢ 501 &R &Y = 1.100| YIER
BESA= Y HER
IR ¢ 50 & 3
BESA= Y HER
73545 ¢ 50 & 1
FIFLUE A L
IV HEFEZF-R ¢150% ¢ 75 & 0.280 X 1 = 0.280
FCD77v¥' (A2JLA) ¢ 75 % ¢50 & 1
SuUs 7.5k EF770Y it F—ACDISY
RILL-Fuk @75 #2 1 1 + = 1
¢ 75 75K EF770Y it F—ACDISY
IV EEM GF-RFERAH Ry # 1 1 + = 1
L
SESEYIRGLE) ¢75 = 1 0.240 x 1 = 0.240
170V EEEE ¢75 & 1
BEEER vLP = 1620
RLRXFE H=0.70 H=0.90
YRS CH15 ¢250 " 2 1 + 1 = 2
[snaiFC 0z ¢ 250
LY Uk ) ABA T &8 H=300 [E] 1 1 = 1
[sniFC 0z ¢ 250
LY Uy ABR T L& H=150 [E] 1 1 = 1
[sniFC 0z ¢ 250
LY Uk ) ABR T T&B H=300 [E] 1 1 = 1
@250
EUFALY VR YIR [EER(Ffz) H=40 | {& 2 1 + 1 = 2
HOHF HAE-ERF THEIK HY#%E
BRI BEHER)—D ¢ 50F8 m 19.4 20100 — 0715 — - = 19.385 7R
U HEAR-ZERF TEIK HY#%E
0r—7499" 74— m 19.4 20100 — 0715 — — = 19.385 el
TOHF HAE-ERF K HY#%E
HBRRT-7 W=50 m 20.8 21720 — 0955 — - = 20.765 7R
ThE 2f& HOHF HAE-ERF THEIK HY#%E
BB+ W=150 m 20.1 21020 — 0955 — - = 20.065 7R




HPPE(VLP)$50mmEckKEMRT HEFTES

EHPPE ¢ 75mm_ % $EF :1=0.520m(0.520m) VLP @ 50mm #zRIER :L=1.100m(0.400m) $EEkTHIFHGIM): 75 1&

k&M Y :0.70m~0.90m NO. 2
EHIRA
I/ & _# KT A Sz & w_Z
FE €FEomm|
RbE "5 AR ERATHKTT Y%
RYIFLVERMT ¢ 50 m 19.4 20100 — 0715 — = 19.385 =5
O#F) ZOEE AU Via—%  EF73VY
EFf(FT @75 [m] 1 + + 1 + = 1
O#F) ZOEE @A LT a4 H
EF#¢F T ® 50 a 6 3 + 2 + + 1 = 6
2O#F) AN Yok mEF-2
EFfF T ¢ 50 jE513i0 1 + 1 + = 1
RbE "5 HAR - ERATHKTF Y%
RYIFLVERMT @75 m 0.3 0520 — 0240 — = 0.280 =5
"5 HAR - ERATHKTT to#%
HEMBRT ¢ 50 m 1.1 1100 — — = 1.100 b3
(20)
HERQLAAEEST ¢ 50 m] 6
IV MFET @75 (7.5K) a 2 2 = 2
HPPEY) &%
HFYIFL BB T ¢ 50 A 2 2 = 2
VLPY)E &
VLPE YT T 50 [m] 3 3 = 3
HUHHRET ¢ 50 = 1 1 = 1
HUHHRET ¢75 = 1 1 = 1
RUKXFE
HUFBAHKEEAT CH18 $250 |t&FR 2
TU1sH ¢ 250
LY UK AR T L& H=300 & 1
T H ¢ 250
LY UK v AR T &8 H=150 & 1
T H ¢ 250
LY UK v AR T T&B H=300 & 1
TU1sH ¢ 250
LY UK AR T JE&B (M) H=40 | {& 2
toRE
BEEEHER)—JHET ¢ 50 m 19.4 19.385 = 19.385 fadi
toRE
HRRT-7T W=50 m 20.8 20.765 = 20.765 PR
ThE 2f& toRE
ERY-IT W=150 m 20.1 20.065 = 20.065 R
BKEHERT IR EEML m 21.7 21.720 = 21.720
(+T]
HPPE ¢ 50
EHI+ TR-1 MEEGD m 20.1 20.1 = 201
HPPE ¢ 75
iz | e ) MEEGD m 05 05 = 05
VLP ¢ 50
EHI+ TR-2 MEEGD m 04 04 = 04
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3. FE/KE 650X ¢ 20mm FEE [ZEEFR - fiE]
[ T73E SR IR 143587 ]



BKEMRL (BLkES0mm) HEHEE

R T48Y:0.60m NO. 3
EHRA
I £ & BHTE B % 8 B2
H#
HPPE (85855 AS47
YT 5 kg @50 % ¢ 25 #® 1 1 = 1
FCD&!L
LEJKAIER )R =ZREmE & 1 1 = 1
FE €FEomm|
HPPE AB4T
RKRETAAT ¢ 50 % ¢ 25 Bl 1 1 = 1
MI A347 1HRATEY
HHKEERT PE ¢ 25 EFT 1 1 = 1 L=0.4m
(1)
PEP ¢ 25LLF

#BAKEID s EEEE) m 0.1 0.1 = 01
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